CLS

addout% = &H3BC

addin% = addout% + 1

DO

CLS

PRINT "lettura della tensione (V)"

PRINT "per chiudere premi s"

OUT addout%, 4

OUT addout%, 6

bitin% = 128

WHILE bitin% = 128

bitin% = INP(addin%)

bitin% = bitin% AND 128

WEND

OUT addout%, 2

WHILE bitin% = 0

bitin% = INP(addin%)

bitin% = bitin% AND 128

WEND

bitin% = INP(addin%)

bitin% = bitin% / 8

word% = 0

word% = word% + bitin%

OUT addout%, 3

bitin% = INP(addin%)

bitin% = bitin% AND 120

bitin% = bitin% * 2

word% = word% + bitin%

word = 5 * word% / 255

PRINT word

LOOP UNTIL INPUT$(1) = "s"

